] a [ ]
Your single source of automotive fluid lines that
[ ] [ H
e INNStaAI quickly, easily, and are designed to last.

SPECIALTY FUEL AIR CONDITIONING | POWER STEERING

-'4_|. L] w
) i e | . - . .
_Egerytl.ung needed t_o -r(_apl_ace brakt_a S.U.R.&R. provides an extensive line of With S.U.R.&_R., you h_ave a proven Make instant repairs to A/_C lines on il
lines quickly and easily is included in specialty products which make everyday and cost effective solution for building hundreds of vehicles. Repair damaged Repair high and low pressure
2nient, allii‘-qne brake line tasks simpler for the technician, and replacing damaged fuel lines for rubber and aluminum lines including power steering lines.
placemT'nt k_lts.._ t practically any vehicle. pinholes, cracks, kinks, and more.

AC1387

: : BRC7 o i, U KP1500 e : ) o - sl .
~ W o . — 1 . : DELUXE A/C Line Repair Kit ' Power Steering Hose
' _ %ea‘lrlv DXtY C‘:PPel't ] el b Y gELlUXE Fuetl Ilz!ltle 3% includes 42 Pieces Repair Kit (3/8" & 5/16")
Brake Line Tubing asher Assortmen . o [ ep"acenluen 1.. ' s i Plus 20' of Hose Includes Five Hoses (6",12", 18",
Includes 130 Pieces : (1/4",5/16" & 3/8") o ' 1T 24" & 30") and Two 5/16"

Better Flares, Simple Includes 168 Pieces " . ' R T Ferrules
- Plus 75' of Tubi _ Al S
Routing, Bend by Hand, fe o on THhng
Won't Rust or Corrode

Power Steering Hose
- Replacement Kit

\ = 1-..____-;‘.-:—__“ § : . DPL4L5L KP1200 e 5‘ : Includes Five Hoses

SUR:R. - _ i . (6",12",18", 24" & 30"),
a3 1_""‘_-""-::—‘_._;__ : . Oil Drain Plug Assortment - A Fuel Line Replacement Kit - ' Two Coils UltraBEND®, and
—— : . Includes 76 Pieces with g . " (5/16" and 3/8") : A/C Compression Union Kit Most Popular Threaded Fittings

Corresponding Gaskets " . Includes 52 Pieces Plus 30' of Tubing (3/8",1/2", 5/8" and 3/4") Use With 3/8" or 5/16" Lines
* No bending tools * Conforms to SAE i ' : _ _ -
required specifications, - i . =T _ i AC50M

e Smooth flares create pressure-rated up =i ; ' KITS/  LINE
better fitting seals t0 3,000 PSI St ST : KP1212 Lo Tes METRIC A/C Compression IMAGE PARTE oty size DESCRIPTION

« Cuts labor time by e Rigorously tested, : ! L 1/2" & 12 mm Fuel Line = | n Union Kit 38" or

more than 50% highest quality HC102 o516

(8,10,12, 15,16 and 19 mm) ‘ 5/16" 3/8" x 6" Power Steering Hose

Replacement Kit "
3/8" or

oROUDLY i Positive Seal Hose ; = Includes 34 Pieces e . | : PS112 516" 3/8" x 12" Power Steering Hose
AMERICAN X Clamp Assortment - Plus 25' of Tubing 1 3/8" or

MADE )
Includes 100 Seal Clamps y g oy 5 ; — i PS118 516" 3/8" x 18" Power Steering Hose

UltraBEND® Tubing and CP360 Seal Clamp Pliers = % g il S . /8" or
R } : PS124 3/8" x 24" Power Steering Hose

IMAGE PARTH K&W 'é'l’z's DESCRIPTION -~ CKV5, CKV7, CKV-DISP A/C Compression = _ . . 2;;? -
Drain Plugs 1 Fuel Pressure Check Valves Block Off Kit . PS130 5/16" 3/8" x 30" Power Steering Hose

IMAGE oARTH DESCRIPTION CKV5-5/16", CKV7-3/8", CKV-DISP (3/8",1/2", 5/8" and 3/4")
BR-EZ100-50 3/16"| 3/16" UltraBEND Brake Line : Includes CKV7 (4) and CKV5 (2)

BR-EZ100 3/16" | 3/16" UltraBEND Brake Line

Lines include 3/8" ferrules which can be replaced with interchangeable 5/16" ferrules (sold separately)

BR-EZ100-100 3/16"| 3/16" UltraBEND Brake Line 1/2"-20 1/2"-20 Single Oversized rounY
MADE

i KITS/ LINE
BR-EZ200 1/4" | 1/4" UltraBEND Brake Line 1/2"-20 1/2"-20 Double Oversized . AcCS0M S R PESCRIFTON

BR-EZ200-50 1/4" | 1/4" UltraBEND Brake Line 1/2"-20 1/2"—20 Triple Oversized Universal Quick Connects ' = 11\3’{531%% fAIéﬁ Compression ; 5/16" 5/16" Compression Union Ferrule

BR-EZ200-100 1/4" | 1/4" UttraBEND Brake Line A 1/2"-20 172 _Z%isg;g%igg’ers'zed RAHTE DESCRIPTION . = (8,10,12,15,16 and 19 mm)

BR-EZ300 516" 5/16" UttraBEND Tubing : o0 1/2"-20 Double Oversized 3/8" 3/8"-3/8" Straight Push-On
' Piggyback 5/16" 3/8"-5/16" Staight Push-On

1/2"-20 1/2"-20 Standard 3/8" 5/16"-3/8" Straight Push-On
5/16" 5/16"-5/16" Straight Push-On
1/2" 1/2"-1/2" Straight Push-On
M12-1.25 M12-1.25 Standard A 1/2' | 12 mm=1/2" Straight Push-On
3/16" Brake Line o M12-1.75 M12-1.75 Pilot Point : 5/16" 1/4"-5/16" Straight Push-On

Replacement Kit M14-150 M14-1.50 Standard 3/8" 5/16"-3/8" 90° Push-On

Includes 110 Pieces 3/8" 3/8"-3/8" 90° Push-On
Plus 25' of UltraBEND® Tubing E M18-1.50 M18-1.50 Standard 5/16" 3/8"-5/16" 90° Push-On

DESCRIPTION

BR-EZ400 3/8" 3/8" UltraBEND Tubing
PS2105 516" 5/16" Male Tube Nut M14 x 1.5

1/2"-20 1/2"-20 Pilot Point

PS2120 516" 5/16" Male Tube Nut 1/2" x 20

IMAGE PART# K(;ﬁ/ A;';'I‘E"'(E:J")E DESCRIPTION 4 | ps2125 3/8" 3/8" Male Tube Nut 5/8" x 18

AG516GB | | 5/16" A/C Compression Block Off ~L | Ps2110 3/8" | 3/8" Male Tube NutM16 x 1.5
AC38CB 3/8" A/C Compression Block Off
AC12CB 1/2" A/C Compression Block Off
AC58CB 5/8" A/C Compression Block Off b | Ps2205 516" |  5/16" Female Tube Nut 1/2" x 20
AC34CB 3/4" A/C Compression Block Off

METRIC

AC8MCB 8 mm 8 mm A/C Compression Block Off ' PS2215 3/8" 3/8" Female Tube Nut 5/8" x 18

Line Adapters AC10MCB 10mm | 10 mm A/C Compression Block Off

1/4" Brake Line ol . M14-1.50 M14-1.50 Pilot Point __ | Ac12mcB 12 mm 12 mm A/C Compression Block Off PS2220 3/8 3/8" Female Tube Nut M16 x 1.5

: PART# KITS/QTY DESCRIPTION - —
Replacement Kit M14-1.25 M14-1.25 Pilot Point AC15MCB 15 mm 15 mm A/C COf’ﬂpI’GSSIOn Block Off J ] PS2305 5/16" M14 Banjo 1/2" x 20 Thread
Includes 40 Pieces Plus

. P 5/16" 5/16" GM AC16MCB 16 mm 16 mm A/C Compression Block Off
25' of UltraBEND® Tubing = M12-1.75 M12-1.75 Pilot Point with

Inset Gasket 3/8" 3/8" GM AC19MCB 19mm | 19 mm A/C Compression Block Off
5/16" 5/16" GM Female to Nylon

3/8" 3/8" GM Female to Nylon
5/16" 14 mm Foreign Female to Nylon
5/16" 14 mm Foreign Angled
5/16" 14 mm Foreign

5/16" 5/16" Rubber Hose to Nylon
3/8" 3/8" Rubber Hose to Nylon

PS2115 3/8" 3/8" Male Tube Nut M18 x 1.5

M20-1.50 M20-1.50 Standard 5/16" 5/16"-5/16" 90° Push-On

M12—1.75 Pilot Point with K415 P 1/2" 1/2"-1/2" 90° Push-On
Inset Gasket K440 P 1/2" 12 mm—1/2" 90° Push-On

M14-1.50 M14-1.50 Standard

PS2210 3/8" 3/8" Female Tube Nut 9/16" x 18

M12-1.75

NN DD ININDIDNDIN DN NN NN

N

PS2310 5/16" M14 Banjo 1/2" x 20L Thread

M indicates parts included in DP454 Qil Drain Plug Assortment. PS2315 3/8" M16 Banjo 9/16" x 18L Thread

Compression Unions

KITS/ ALUM. LINE - PS2405 516" | 1/2" x 20 - 1/2" x 20 Bump Tube Adapter
IMAGE PART# aTY  SIZE (0D) DESCRIPTION

AC516 l 5/16" 5/16" A/C Compression Union - PS2410 3/8" |M16x1.5-9/16" x 18 Bump Tube Adapter
AC38 i 3/8" 3/8" A/C Gompression Union PS2415 3/8" |M18x1.5 - 9/16" x 18 Bump Tube Adapter
AC12 1/2" 1/2" A/C Compression Union
AC58 5/8" 5/8" A/C Compression Union
AC34 3/4" 3/4" A/C Compression Union
METRIC

AC8M 8 mm 8 mm A/C Compression Union - BR-EZ300 5/16" 5/16" UltraBEND Tubing
AC10M 10 mm 10 mm A/C Compression Union
AC12M 12 mm 12 mm A/C Compression Union BR-EZ400 38" 3/8" UltraBEND Tubing
AC15M 15 mm 15 mm A/C Compression Union Indicates quantity included in PS1000 Power Steering Hose Repair Kit

AC16M 16 mm 16 mm A/C Compression Union ::dlcates quan.tlty included in PS2000 Power Steering Hose Replacement Kit
eorder quantity

Copper Washers

Ultimate Brake Bleeder — J

Removal Tool Kit firdara R | IMAGE PART# ‘,‘STSJ .D. DESCRIPTION
Includes 77 Pieces ' BRC127 [ 3/8" 3/8" 1.D. Copper Washer
BRC137 [ i) 7/16" 7/16" 1.D. Copper Washer
BRC147 VA 172" 1/2" 1.D. Copper Washer 5/16" 5/16" Quick Connect to Nylon
BRC157 [0 9/16" 9/16" 1.D. Copper Washer 3/8" 3/8" Quick Connect to Nylon
BRC227 A 10 mm 10 mm 1.D. Copper Washer | K420  1/2" 1/2" Quick Connect to Nylon
BRC247 |FVA; 12 mm 12 mm .D. Copper Washer K445 172" 12 mm Quick Connect to Nylon
BRC277 [ l0] 15 mm 15 mm I.D. Copper Washer K153 2/g" 3/8" Quick Connect to Quick

BRC287 | l] 16 mm 16 mm I.D. Copper Washer Connect
M Indicates parts included in BRC7 Heavy Duty Copper Washer Assortment. K1 60 5/1 6“ 1/4”_5/1 6“ QUICk Connect to Nonn

BR105 3/16" 3/8"-24 3/8" &
5/16" AC19M 19 mm 19 mm A/C Compression Union

Hose Clamps K165 "
e Hose To Compression Union Adapters TRANSMISSION

PART# DESGRIPTION K167 1/4" 5/16"—1/4" Nylon to Nylon Reducer
KITS/ ALUM. LINE

IMAGE PART# QrY  SIZE (D) DESCRIPTION

N DD DN = = = DN NN

DESCRIPTION

KITS/  LINE
PART# Ty SIZE DESCRIPTION

AR
JULILILILL

N (N DD NN N NN NN == =N

3/8"-5/16" Nylon to Nylon Reducer

BR135 3/16" 3/8"-24 Long

BR145 3/16" 716"-24

1/4" 1/4" 360° Seal Clamp K170 5/16" 5/16" GM Male to Rubber Hose
5/16" 5/16" 360° Seal Clamp K175 3/8 3/8" GM Male to Rubber Hose

3/g" 3/8" 360° Seal Clamp : K270 5/16" 5/16" GM Short AC16516 . 5/16" | #6 Hose To 5/16" Compression Union Replace or repair transmission or

172 1/2" 360° Seal Clamp k275 3/8" 3/8" GM Short AC1638 3/8" | #6Hose To 3/8" Gompression Union cooler lines for virtually any vehicle
9/16" 9/16" 360° Seal Clamp : K305 5/16" 9/16"-5/16" Male Spring Lock AC1812 1/2 #8 Hose To 1/2" Compression Union within minutes.

" " arno : to Nylon AC11058 5/8" | #10 Hose To 5/8" Compression Union
L 117167 960" Seal Clamp K315 516" | //16°-5/16" Male Spring Lock AC11234 3/4" | #12 Hose To 3/4" Compression Union
23/32" 23/32" 360° Seal Clamp o Nylon

METRIC

3/4" 3/4" 360° Seal Clamp K310 5/16" 9/16"-5/16" Female Spring Lock : :
7/8" 7/8" 360° Seal Clamp to Nylon AC168M #6 Hose to 8 mm Compression Union

w | 7/16"-5/16" Femal ing Lock . .
15/16" 15/16" 360° Seal Clamp K320 516 /16"-5/16" Female Spring Loc AC1610M #6 Hose to 10 mm Compression Union TR555

to Nylon - .
AC1812M #8 Hose to 12 mm Compression Union = .. .
Upto1"0.D. 360° Seal Clamp Pliers K325 5/16" 12 mm-5/16" Banjo to Nylon = P & DELUXE Transmission Oil

AC11015M #10 Hose to 15 mm Compression Union . P
K335 5/16" 14 mm-5/16" Banjo to Nylon Cooler Line Repair Kit

AC11016M #10 Hose to 16 mm Compression Union .
" _ " i Includes 78 Pieces Plus 15' Of Hose
K330 5/16 12 mm-5/16" Banjo Bolt to Nylon AC11219M #12 Hose to 19 mm Compression Union
38180 3/8" 3/8" 180° GM Fuel Filter

#6 Hose to 90° 5/16" Compression
3890 3/g" 3/8" 90° Elbow AC26516 Union

51690 5/16" 5/16" 90° Elbow AC2638 #6 Hose to 90° 3/8" Compression Union R
FE—_— AC2812 #8 Hose to 90° 1/2" Compression Union
i ac21058 B #10 Hose to 90° 5/8" Compression

BR405 3/16" 3/8"-24 Inverted Flare IMAGE  PART#  KITS/QTY DESCRIPTION Union
Ac21234 B #12 Hose to 90° 3/4" Compression Rubber Hose
BR435 3/16" M10 x 1.0 Inverted Flare 1/4" 1/4" Nylon Tubing Union KITS/  LINE

IMAGE  PART# DESCRIPTION
K00350 1/4" 1/4" Nylon Tubing

BR150 3/16" 1/2"-20

BR155 3/16" 9/16"-18

NN NN DN

—
e
witf
-3
"
L

BR157 3/16" 3/8"-24 (7/16" Wrench)

-
i

BR205 3/16" M10x 1.0 Gold

sl
i

AL

BR210 3/16" M10 x 1.0 Blue

BR270 3/16" M10x 1.0 Long

BR1150 1/4" 7116"-24

BR1200 1/4" 7/16"-24 (9/16" Wrench)

BR1400 1/4" 7/16"-24 Long

M Indicates parts included in HC102 Positive Seal Hose Clamp Assortment.

BR1600 1/4" 9/16"-18

e R T T S T T [~~~ (R~ (Y~ A~ B~ =

BR1650 1/4" 1/2"-20

- ﬂ"_ F 1
= S .
— - . PROUDLY
E. — T . AMERICAN
i = MADE

I .
PART# e DESCRIPTION Nylon Tubing

aTy SIZE

K003100 12 1/4" Nylon Tubing Line Reducers 5/16" Transmission Rubber Hose—Universal

for both 5/16" an " repair
K005 5/16" 5/16" Nylon Tubing IMAGE e K&ﬁ’ A'S':thé"(g'nN)E DESCRIPTION (use for both 5/16" and 3/8" repairs)

K00550 5/16" 5/16" Nylon Tubing AC1612 1/2"

" K005100 5/16" 5/16" Nylon Tubing -4 0 " : :
PARTE KITS/  LINE DESERIETION lines and components. . I == AC1858 5/8 #8 Hose to 5/8" Compression Union DESCRIPTION

S K010 3/8" 3/8" Nylon Tub?ng AC11034 3/4" | #10 Hose to 3/4" Compression Union . Dodge/Jeep Transmission Line
BR170 3/16" 3/8"-24 K01050 3/8 3/8" Nylon Tubing

K010100 3/g" 3/8" Nylon Tubing In Line Service Ports Ford Transmission Line

. - GM Transmission Line
1/2" Nylon Tubing IMAGE parT#  KITS/ ALUM.LINE DESCRIPTION

(Use for 1/2" & 12 mm repairs) QTY  SIZE (OD) GM Transmission Line
Heater Line Repair Kit Unions AC412L 1/2" Service Port Valve, Low Side ' GM Transmission Line
(1/2", 13 mm, _5/8", & 16 mm [ AC458L 5/8" Service Port Valve, Low Side
[3/4" also available, sold PART#  KITS/QTY DESCRIPTION -t ACA438H 3/8" Service Port Valve, High Side

separately]) AC412H 1/2" Service Port Valve, High Side o
Includes 12 Pieces Plus 10' of Hose 5/16" | 5/16" Nylon to Steel Compression e WRSE PR qy s

_ 5/16" 5/16" Nylon to Nylon Compression

5%%?3»1 3/8" 3/8" Nylon to Steel Compression
3/8" 3/8" Nylon to Nylon Compression

1/4" 1/4" Nylon to Steel Compression

KITS/ 1/4" 1/4" Nylon to Nylon Compression

PARTE qry  LINESIZE DESCRIPTION 1/2" 1/2" Nylon to Steel Compression

1/2" (13 mm) 1/2" Heater Compression Union 5/16" 5/16" Nylon to Nylon Push-On

LINE DESCRIPTION : 5/8" (16 mm) 5/8" Heater Compression Union ; 3/8" 3/8" Nylon to Nylon Push-On AC10H #10 AC/Hose, 1/2", 13 mm*

S 34 3/4" Heater Compression Union 172" 1/2" Nyion to Nylon Push-On AC10H25 #10 AC/Hose, 1/2", 13 mm”* R
n #
316" | 3/8"—24Inverted Female to M10 x 1.0 AC12H #12 A/C Hose, 5/8", 16 mm* Ty

Inverted Male AC12H25 #12 A/C Hose, 5/8", 16 mm*

3/8"-24 Inverted Female to M10 x 1.0 PART#  KITS/QTY LINE DESCRIPTION

Bubble Male oy o Clamps Sets
M10 x 1.0 Bubble Female to M11 x 1.5 mage  parte KIS/ e size DESGRIPTION _ 5/16" 5/16" 360° Seal Clamp
KITS/ RUBBER

Bubble Mal f " " °
2824 Invertl:atzibFZm:Is 076" HL11212 1/2" (13 mm) | 1/2" Hose to 1/2" Compression Union* ) 3/8 3/8" 360° Seal Clamp IMAGE  PARTY  “ory  osE SizE DESCRIPTION DESCRIPTION
Inverted Male s | HL11258 5/8" (16 mm) | 1/2" Hose to 5/8" Compression Union* 12" 1/2" 360° Seal Clamp AC6806 #6 Clamps Set, Blue Tab 516" 5/16" Steel Compression to 5/16" Rubber

g1 | 3/8"=24 Inverted Female to 1/2'~20 HL11234 3/4" 1/2" Hose to 3/4" Compression Union* 3/8" 3/8" Nylon Tubing Holder* "% | AC6808 #8 Clamps Set, Yellow Tab —— 55" 3/8" Steel Compression to 5/16" Rubber

Inverted Male 5/16" 5/16" Nylon Tubing Holder* % Y7 [ Acesio #10 Clamps Set, Green Tab . 5/16" Inverted Flare with 5/8"—18 Nut to
3/8"—24 Inverted Female to 9/16"=18 (UNIVERSAL HOSE Use with all S.U.R.&R. Heater Adapters) ' 5/16 Rubber

AC6812 #12 Clamps Set, Red Tab
Inverted Male , . kit ;
mage  part¢ KIS/ NEsizE DESCRIPTION 516" 5/16" GM O-R"?%gu\gll)tgrwz —20 Nut to

TY

g IMAGE PART#  KITS/QTY DESCRIPTION e e 220N

HL12H Universal 1/2" Heater Hose 10' Roll " 5/16"" Inverted Flare witl "—20 Nut to
IMAGE pars  KITS/ RUBBER DESCRIPTION 516

PART# DESCRIPTION HL12H25 Universal 1/2" Heater Hose 25' Roll . Heat Shield Sleeve QTY  HOSE SIZE Rubber
(protects line up to 1,200° F) AC370606 #6 Hose to #6 Hose In Line Splicer - 5/16 5/16" Rubber to Rubber Connector

BBTOOL BB007 Tool : . o
AC370808 #8 Hose to #8 Hose In Line Splicer : 5/16 5/16" Quick Connect to Rubber
3/8" 3/8" t0 5/16" Rubber to Rubber Connector

BBO1 M10 x 1.0S Brake Bleeder Screw IMAGE  PART# LINE SIZE DESCRIPTION AC371010 #10 Hose to #10 Hose In Line Splicer
. ; 3/8" 3/8" Quick C t to Rubb
BB02 3/8"-24 NF Brake Bleeder Screw 3/4" Heater Hose Dual Clamp IMAGE o DESCRIPTION AC371212 #12 Hose to #12 Hose In Line Splicer 38" 3 /8..?'\:; 45:) I,:,::z t: Ruubbeerr

(Use with 1/2" Heater Hose) Tool — -
Clamp Pliers 00IS N 3/8 3/8" GM 90° Male to Rubber

BB04 1/4"-28 NF Brake Bleeder Screw IMAGE papTe KITS/ LINE DESCRIPTION = 3/8" 3/8" GM Straight Male to Rubber

- (1104 SIZE " :
- o : " 3/8" Inverted Flare to Rubber (use with
BBO5 M10 x 1.25 Brake Bleeder Screw LINE SIZE DESCRIPTION - 360° Seal Clamp Pliers N = 38 TR605, TR610, TR615 & Tf(zezo)

3/4" Heater Hose Spring 3607 Seal Clamp Plers 3/8" GM 0-Ring to Rubber (( ith TR605
. - . " -RINg 10 Rubber (use wi s
BBO6 M10 x 1.5 Brake Bleeder Screw _ (Use with 1/2" Heater Hose) Tubing & Hose Cutter 38 TR610, TR615 & TR620)

Tube & Hose Cutter

BR450 M10 x 1.0 Bubble Flare

BR4100 7/16"-24 Inverted Flare

Perfect for vans, SUVs and other

vehicles with failed rear heater #6 Hose to 1/2" Compression Union

BR230 3/16" M10 x 1.0 (Euro, Domestic)
BR235 3/16" M11x1.5

K405 172"

BR240 3/16" M12x1.0

BR245 3/16" M13x1.5

BR250 3/16" M10 x 1.0 (VW, Audi)

N

i 308 7

-
L

3/8" Inverted Flare Nut 5/8"—18
(use with TR985 & TR990)

KITS/ RUBBER

Q

HOSE SIZE DESCRIPTION 3 3/8" Bubble Flare Nut M16 x 1.5

. . (use with TR985 & TRIO)
AC6H #6 A/C Hose, 5/16", 8 mm 3/8" Bubble Flare Nut M18 x 1.5

AC6H25 #6 A/C Hose, 5/16", 8 mm* (use with TR985 & TR990)
AC8H #8 A/C Hose, 13/32",10 mm* K 3/8" Inverted Flare Nut (5/8"-18 w/dog ear)

AC8H25 #8 A/C Hose, 13/32", 10 mm* (use with TR985 & TRI90)

BR255 3/16" M10 x 1.0 (Ford)

BR2200 1/4" M12x1.0

BR2300 1/4" M13x1.5

B I~ S T T S O B B I -

888

BR2500 1/4" M14 x 1.5 (GM)

NN NN NN NN DN

3/16"

3/16"

3/16"

3/16"

BB03 5/16"-24 NF Brake Bleeder Screw

N NN NN NN DN DN

N

BB07 M7 x 1.0 Brake Bleeder Screw NOTE: Connectors and adapters include corresponding seal clamps.

BBOS 7/16"=24 NS Brake Bleeder Screw B Indicates quantity included in KP1500 DELUXE Fuel Line Replacement Kit NOTES: KITS/ LINE

LINE SIZE DESCRIPTION Indicates quantity included in KP1200 Fuel Line Replacement Kit 1. Hose To Compression Union Adapters and Line Reducers include one PART# DESCRIPTION
M Indicates quantity included in KP1212 1/2” & 12 mm Fuel Line Replacement Kit clamps set. aty SIZE

. ) Reorder quantity 2. Block Offs include one clamp and one self-tapping screw. " 1/2" Hanger Clamp (includes screw) (use
360° Seal Clamp Pliers *Includes self-tapping screw. 3. Hose Splicers include two clamps sets. 10 1/2 with TR516H 5/16" Rubber Hose)

BB09 M8 x 1.25 Brake Bleeder Screw

BB10 M8 x 1.0 Brake Bleeder Screw

Indicates parts included in HL427 Heater Line Repair Kit M Indicates quantity included in AC1387 DELUXE A/C Line Repair Kit . Up to ° .

Reorder quantity M Indicates quantity included in AC40 Compression Union Kit > 1"0D 360° Seal Clamp Pliers

*Includes dual clamp. Indicates quantity included in AC50M METRIC Compression Union Kit —
B Indicates quantity included in AC80 Compression Block Off Kit " Upto

Indicates quantity included in AC90M METRIC Compression Block Off Kit 1-1/4" 0.D.

Reorder quantity

“Printed on Hose. : 9/16" 9/16" Seal Clagfng:rEHv(\)lgg)TRm 6H 5/16

3/8" 3/8" Transmission Connector Clip

BB11 7/16"-20 NF Brake Bleeder Screw

BB12 M10 x 1.0 Brake Bleeder Screw Tube and Hose Cutter

BB20 Small Dust Cap

(S B S 2 T & 2 B I & ) B S ) I S 2 R & 2 B &) |

BB21 Large Dust Cap

BBPIN Brake Bleeder Screw Pins

(o°)
*

NOTE: Connectors and adapters include corresponding seal clamps.

Indicates quantity included in BR-EZ316 Brake Line Replacement Kit M Indicates quantity included in TR555 DELUXE Transmission il Cooler Repair Kit
M indicates quantity included in BR-EZ14 Brake Line Replacement Kit

Indicates quantity included in BB0O7 Ultimate Brake Bleeder Removal Tool Kit For complete kit parts listings, please contact your distributor or visit surrauto.com Reorder quantity

Reorder quantity

* Assortment Package Contains Various Pin Diameters PN#01 2564 | ReV 1 1 1/1 8 | SUR&R |S a d|V|S|On Of the HUSky® COFpOI’atlon




_ ULTRA[ZEND

S.U.R.&R. Provides An Extensive - _ Brake Line Tubing
Line Of Specialty Products Which
Make Everyday Tasks Simpler - = o Rl
For The Technician. ~ ' A TEET !ﬁ

) ] ) ] ] — = = - 3/16" Brake Line Repl t Kit
Vehicle Fluid Line Repair Solutions . . 'To design the hest brake line tubing, et ee 110 Pleces phes 25 of UltraBEND® Tubing

- L R i, AR~y [T _ . Vi e SFETIy,

FLS330 PARTS REFERENCE GUIDE S SU.R:R.

Fluid Line Stopper Clamps TS14316 ¥ =
Tubing Straightener DELUXE Fuel Injection ‘ AIR CONDITIONING | POWER STEERING | TRANSMISSION COOLANT SPECIALTY

& Bending Pliers Pressure Tester Kit
TP14316

Tubing Pliers _ : = - : e Pays for itself in as little as one job
“ ' 8 fi< ) * Replace numerous brake lines with one kit
e Metric and standard fittings included

. . . 1/4" Brake Line ; ;
RIVI69 * Easy bending, simple routing - ] . Replacement Kit e Parts conveniently available, wherever and

Brake .rublng Reamer TcGo f e "-:. o ) NO bending -tools required b CutS |ab0l’ time by more than 50% roe : . I Includes 40 Pieces Plus 25' Whenever you need them

guttolrln?ic/ E . - ¢ Smooth flares create better fitting seals ~ ® Triple annealed for easy bending of UltraBEND® Tubing * Packaged in durable, portable carrying case
atcheting : - 2

Tubing Cutter il = ] y e Conforms to SAE specifications, ® Rigorously tested—highest quality
. al b/ ¥ pressure-rated up to 3,000 PSI e Available in 3/16", 1/4", 5/16", & 3/8" sizes

TFS203 - | (NOW LN 4

-

Temporary Fuel Supply/ The Difference The Difference The Difference e, L g g Air Brake Repair Kit

Fuel Injection Cleaner e . g’ " Includes 32 pieces
SURS&R. OTHERS SURS&R. OTHERS ; ' . e U
] ] (USA Made) (Imported) (USA Made) (Imported) o *__'# -
PFT409 View all specialty products at ol \

] P A 1 k Vo \ Ryan Zehner:
Pistol Grip Flaring Tool surrauto.com/specialty-tools ™ I o k 4

Zehner's Auto Service; i
Akron, OH

. o
NO ) ] \ b ! | ~‘
KINK KINK |

Thicker | nar “I've used S.U.R.&R.’s brake o
walls ”\xgﬁlse r ’ line for over five years and Features push-to-connect composite fittings

prevent % more likely -Il'.- THICKER THINNER tried others as well. There's in 25 popular styles.
kg tokink WALLS WALLS no comparison. Whether e Individual pieces available for reorder

you're flaring, routing, * FMVSS (DOT) and SAE compliant

_ or bending, S.U.R.&R. is * Pre-applied thread sealant for easy isntallation
Vehicle Fluid Line Repair Solutions i 4 simply the best.”

¢ Composite body: Saves weight, UV resistant,

CONSISTENT INCONSISTENT vibration resistant, excellent chemial resistance

PROUDLY
FLARES FLARES AMERICAN

MADE

For new products and latest news from S.U.R.&R. go to

© 2018 S.U.R.&R. All rights reserved. | PN#012564 | Rev111/18 | S.U.R.&R. is a division of the Husky® Corporation

aul] wnujwnje asoy ojul
oS0y uoissiwsue.l} mau Jredau ypesd Jiedas  Jredau yo ypojq o3juo uolun ssoid dwep  usydepe ysnd ‘ssoy
pue 108uuod }oInb YUAA  10329UU0D BUI| UOISSIWSUR] pue ajoyuid UOID3s dUIT 940D Jsjeay Jesy uoissasdwod uaybi| yum dwiid ojuo dwepd ase|d oulfiuunuiinie o] uolun uoissaidwod YIm aul] wnuiwnje sdajls a|dw!s € isnf uj sajnulw g Japun sopIyeA ublaloy g

. 2 oluo uolun ojui Jardepe
*d3A10Ss INFT1903dd Bupjea :N3T90Ud . = : uo!);saJduioa sio1d dwep qsr?d"astq Eo :@d3A10S INTT190dd D/V pebeweq :AT1903d ul auop aq ued suonejjejsul |e:)!dK_L J13S9WOP YHM SHIOAA o

IS uayybiy yum dwny dwep ade|d paJinbai sjooy
:'_n-': | I - . Bunyy o1 auj| 108uU0odsIp [eads o
- = - :

dwep dwuy uoysnd  uojAu yoeny 85UBIUBAUOD
= r . ] r aseajal quinyj e
w;_ h

(1) ﬁ*ﬁ; - S$109UU07) YOIy [ESIDATU[)
i€ 'Z llr se e|du.|!s se s uogsse.ldu,lo;?feesp:qu&!;;\;‘\ uoidauuod e Bupjes| asoy -"‘. o | -4’

"salnuiw ui saul| Jieday ‘qQINI0S WITHO¥d  D/V pabeweq :INT1HOYd (€ (Z) (1)

SV U] yea] v 1reday EoE e )
- :f:f:". X1000Y¥d ue H Aa a ulas SV N . = \ \¢ e i
IO au.!:.-.[ 'M'aN V a}lew (Aroreredas : p Iq . ) " | uollellelsul ASBH CIEIEET_II\),?;IEZ'ISOOO:I.

PIOS ‘S[qe[reae osye

6unay 03 ssoy
dwep dwn)y 1aqqgnu uo ysnd

ik

Alquiassy Aseq

4 ,05¢€ 01 dn saunjesedwal pue ./€) ww oT pue ,8/g : S9ZIS WIUI 6T pUe 9] a 3 _
. ‘wit €1 °,Z/1 YaIM 3s) ‘ Y i~ X ‘ST ‘21 ‘01 ‘8 sepnyouf L
ISd 0GZ 03 dn pajes ainssaid !Aujigelnp . x . ; ,.:; I.L‘:ﬁ, furqny Jo Gz snid S9991d ¥E Sepn[oU]

9SOH Jo ,01 - T 1 33O ¥oo1d Sau'!:"l alnssal d MO"I (wwr 21 %8 ,2/1) I yuawaoe[day aury [ang

snid sa991d ZI sapnjou] _ S uotssardurod J/V OIY.LIAN
ajoul pue ‘sajoyuid 's>0e1d ‘Isnu Wy 1redoy ourT I91ERH - 3 INO6IDY . 5 pue qﬁlH I0]J siteday e erecian
6u!pn|:>u! saul| paﬁewep 10} 108449 e _ : y j SIS ,/E PUE ,8/S 6 6 ] burqng. Jo ,0€ sn[d S@991d ZG sopnjou]
suoneoidde g . i : o u D/V II!ISB"[- quI ].SB_:[

* 2/1".8/€ SapnjoU[ (.8/€ '3 ,91/6) ¥ JuswIROR[daY SUIT [oNJ
ubI210} pue J1ISBWOP JO SPAIPUNH

- -k —— ol ;. 13 O Moold A 002Z1dM
saul| 3O ueyy ||easul 01 1 . il _ , E : uotssardwro) o/y $92Is /€ Pue ',8/5 :

Ja1sea ‘Aujigejieae ped sieipaww] e : = =\ - 3 ] e 08IV ia3YINOIY S100L L.Z/1",8/€ SIPNIOUL ISd 00Z 03 dn pjoy saul| UOJAN e
soul| ,8/€ %8 ,91/S YOq R gl —— - - AHIVDAES ON 30914 25 $BAIOL]

pue A1ajes oy asoy Jaqqni pajjem-a|du] e

~ sopIyaA UBISIO) 1 DISSWOP YMIM SHIOAA e
uo siiedas axew Jo aoe|das 0} 8sM e ' $9ZIS WIWI 6T PUE 9T ! ABojouyda) |ess o
‘6T ‘71 ‘0T ‘g SOPNIOUI 8|qnoq sainjea ] areday |9salp pue joueyid

11y uotup) uorssaxdwio) : - SUr10/V AXN13a ‘seb Buipnjoul sadAy |any sdilnw Yaim asn 1oy ajes e

.salnu._lw u!ql‘!M Buigny  wouy su;‘;"::;u;';‘}f:: . - "o O/V JIdLIN . L} ] Lsslav

919|0sqoO Jo /<|1SOZ) aJe Yyolym saul| 6UI3€|dSJ 10} 1088 d e
sayduaIM  gNIgen|n paiey  [eisul ‘aseyy ‘azis : : :

a-[o-!:qu AuV A-[-[enll-!:A Yyum usaybip ojuo asoy ysnd o3 buigny 3nd wosav . B ; . A y \ 2wl Joge| sednpal fpeJ!anJ $|00} uoluasul |E’!36dS ON e

- soury ,91/G 10,8/€ YHM 3s] = ?

104 SOUI'T I9]00D 4 \ y — remdog wsop e ABPERIL p fL s y § "2/1", /¢ sopulouy el N\
I.!:O / uo.!:ss.!:ulsue'll . - ';o ?1;0:) oML (.08 8 .V "8I e . 9 Ely ) ] uortuf) uoissardwo) 9/v S s e -aIO!qu AuV Allea!loeld 'Iod
meday 10 aoerday e = =T “ 9);%.?[&; \\Cr IR e 0N R~ saur] [onJ pebeureq buroerdoy
. " ;’T’ \ :I;] E.-—ﬂ._, H but1aais d i ‘ ‘ 'BIO]/\[ .p.[gv 'S}[II!)I :-_ | .. | puV ﬁu-!:I!BdaH IOd uo-!:ln.[os

saur,g8/€ 8 ,91/S UMM 3sn | | saur 91/g 10,8/€ YMM 350 S}IOBID Saloqu!d u!:pn[oul - | BA'!:].OGJ; d 1800 puv uaAOId

950H J0 5T STId 59991 8, SIPNOUL SeIRd ,91/S OML PUE (,0€ 3 SOUI'] WnuIwn[y puy Iaqqny YV 9ABH NOA ‘H’?HHS UM

.¥Z '.81',21,9) S9SOH 3ALJ sapnfou]

d 9s0 UIFE) J9Mo Jej|od je 8so upjes L]
12]00) [10 uo;ssgmgt}xlenue ;):ln?]‘;g 1 Mau Y =ag/§|os V\Tg'lﬂOHj 1WIEII'IEI:.OHd Nqo?/\w)\llo; v 1y 1eday asoH Buriasg 19mod paﬁemea I!B daH sala.!:qu ;O |
sssu PN SPOIPUNH UQ SOUITO/V OL Wit S
. 0 siie da}:[ juelsuy oe]N _ - ¥ Juswaoe|day Sur [PNd IXNTAA

SyIvd3y
SITDIHIA 40 =0 00SIdX

x

‘ IAYN o Ty JAYN

:’:; NVOMMINY AR NVONMINY

BN X1a008d AN X1aN0Y¥d
PR e x

S¥IAO> Ol dn syanoy

sazis ,y/€ pue ,8/S j = -_ - saul| |an} INJO “SA %0/ 03 dn aneg e




